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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.

(2) Calculations and explanation if required are to

be shown with the relevant answers.

1 A firm manufactured and sold 1000 typewriters in the 20
year 2010-11. Its summarised Trading and Profit and Loss
Account for the year 2010-11 is set out below :

Particulars Rs. | Particulars Rs.

To Cost of Materials 1,60,000 | By Sales 8,00,000
To Direct wages 2,40,000
To Manufacturing charges 1,00,000
To Gross Profit c/d. 3,00,000

8,00,000 8,00,000

To Management and staff By Gross Profit b/d 3,00,0000
Salaries 1,20,000

To Rent, Rates and

Insurance 20,000
To General Expenses 40,000
To Selling Expenses 60,000
To Net Profit 60,000
3,00,000 3,00,000
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For the year 2011-12, it is estimated that

(@) The output and sales will be of 1200 typewrites.
(b) Price of materials will rise by 20%.

(c) Wages rates will rise by 5%.

(d) Manufacturing charges will increase in proportion to the

combined cost of materials and wages.

(e) Selling expense per unit will remain unchanged.

() Other expenses will remain unaffected by the rise in output.

Prepare a statement showing the price at which
typewriters to be manufactured in 2011-12 should be

marketed so as to show a profit of 10% on selling price.
OR

From the following figures you are required to prepare a
statement showing (a) the cost of materials used (b) the work
cost (c) the total cost (d) the percentage of works overheads
to productive wages and (e) the percentage of office overheads

to work cost :

Rs. Rs

Stock on 18t April, 2011 :
Finished Goods 38,000
Raw Materials 12,800 50,800
Purchases 2,92 000
Productive wages 1,98,800
Sales 5,92,000
Works overheads 43,736
Office Expenses 35,524
Stock on 315t March 2012 :

Finished Goods 30,000

Raw Materials 13,600 43,600

20
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What price should the company quote to manufacture
a machine which, it is estimated, will require an
expenditure of Rs. 20,000 on materials and Rs. 12,000
on wages, so as to yield a net profit of 25% on the total

cost ?

2 (a) Calculate : 11
(1) Re-ordering level
(11) Minimum level
(i) Maximum level
(iv) Economic Ordering Quantity (EOQ).

From the following :

(1) Annual consumption.................... 13000 units
(2) Cost of placing an order....................... Rs. 25
(3) Carriage exp. (yearly per unit)............ Rs. 65
(4) Re-ordering time ......................... 4 to 6 weeks
(5) Weekly average consumption ......... 250 units
(6) Weekly minimum consumption ...... 125 units
(b) Calculate Material Turnover Ratio and Turnover 9

Period from the following :

Particulars Material Material Material

X Rs. Y Rs. Z Rs.

Opening stock 37,500 80,000 17,500

Purchases 1,17,500 2,00,000 52,500

Closing stock 17,500 40,000 7.500
OR
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2

(@) From the following information of Prerna Ltd. find out 10

(b)

(1) EOQ
(2) Ordering level
3) Maximum level

(49) Minimum level

Annual consumption .................. 12,000 units
Cost per unit .........cccooovveeiiiiieiiiieeiinn Re. 1
Cost per order ........coooeveiiiiiiiiiieiii, Rs. 12
Inventory carrying cost................... 20% p.a.

Lead time (maximum, average and minimum) - 30-15-5 (days)

Daily consumption (maximum average and minimum)

45-33-15 (units)

From the following information calculate : 10

(1) Material turnover rate

(2) Turnover period

Particulars Material Material

A Rs. B Rs.

Opening stock 40,000 80,000

Purchases 1,30,000 2,00,000

Closing stock 20,000 40,000
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3 (@) During the last week of February 2011, the workman 10

Anand manufactures 300 articles. He receives wages for
a guaranteed 48 hours week at the rate of Rs. 4 per
hour, the estimated time to produce one article is 10
minutes and under incentive scheme the time allowed

is increased by 20%.
Calculate his gross wages according to :
(1) Rowan Premium Bonus
(2) Halsey Premium Bonus.
(b) The number of employees on the Payroll of a factory 5

was 980 on 18t April, 2011. 60 workers left during the
month and 100 workers were recruited. The total number

of employees on 30th April, 2011 was 1020.

Calculate Labour Turnover under Separation

method and also find out Equivalent Annual Rate.
OR
3 (@) A worker is allowed 80 hours for executing a piece of work, 10

which he complete within 60 hours. He is paid at the rate

of Rs. 4 per hour.

The material cost of Production is Rs. 300 and the
factory overheads are recovered at 50% of the total

direct wages.
Calculate the factory cost of the Product as per :
(1) Halsey wage plan

(2) Rowan wage plan.
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(b) The following information has been obtained from 5

the production department of one factory.
(1) Workers as on 15 January, 2011 ................ 760
(2) Numbers of workers who left factory

IN January .......coooeoiieiiiiiieiiieeeee e 160
(3) Total appointments made in January.......... 200
(4) Appointments made against

newly created postS........cccoeeiivvieiiiiiiieeeeiinnn. 100

Calculate the Labour Turnover Rate by

Replacement Method and Joint Method.

4 In a factory there are three production departments 15
A, B and C and two service departments M and N. The details

about the expenses are as under :

Rent and rates Rs. 20,000 | Power Rs. 2400
Lighting Rs. 480 | Contribution to E.S.1. Rs. 650
Canteen expenses Rs. 1800 | Salary of the Factory

Insurance Rs. 1320 | Manager Rs. 2400
Indirect wages Rs. 1300

Depreciation Rs. 3,300
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Yo are supplied with the following additional information

A B C M N

(1) No. of workers 10 12 08 06 04
(2) Space occupied (sq. yds.) 300 200 250 150 100
3) Light points 6 5 4 3 2
(4) Consumption of power

on the basis of meter

(units) 400 600 200
(®) Cost of Machine (Rs.) 30,000 20,000 15,000 500 |. 500
6) Direct wages (Rs.) 2250 2000 1450 . 600 200
(7) Proportion of time

Devoted by factor

manager 5 5 4 1 1

Show the distribution overheads.

If the benefit of Service Departments M and N is derived
by the Production Departments in the following proportions,
show the final distribution of overheads to production

departments. Use step-ladder method :

A B C
Department M 25% 35% 40%
Department N 30% 40% 30%
OR

HCX-002-001303] 14 [Contd...



4  Write short notes on : (any three) 15
(1) Advantages and Importance of Cost Accounting
(2) Fixed and Variable Overheads
(3) A. B. C. Analysis of Materials

(4) Normal and Abnormal Wastage.
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